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WAL | B R4 G OUT | IN |GROSS| HDCP | NET |cossi %% WAL | B R4 P OUT | IN |GROSS| HDCP | NET |crossif fi+
B (Al 15 E— 2 42 47 89]20.4 | 68.6 514 K B T4 46 46 92119.2 72.8
HER P 5F JINFE 41 49 90/ 20.4 |69.6 52| E JAE B— X 42 44 86| 13.2 | 72.8
S|IAA 7] oA YL 46 43 89/19.2 |69.8 53| B ik S AX 39 41 80| 7.2 |72.8
4180 INE U vT A 39 38 770 7.2 169.8 54 | A BT N 40 40 80| 7.2 |72.8
5\ %% fith R 42 41 83 13.2 |69.8 55| H & U7 4 41 39 80| 7.2 |72.8
6|/ AR L= — 2 43 39 821 12.0 [70.0 56911 #— A 36 38 741 1.2 [72.8
7\ H {5 =1 40 42 82/ 12.0 |70.0 57127511 Bt = 38 36 74) 1.2 |72.8
8ILUA {EH] fir A 41 41 821 12.0 |70.0 58| N FEHhL F— X 41 38 79! 6.0 |73.0
9Ll AT T 41 40 81/10.8 | 70.2 59| HA AT HHH 42 43 85/ 12.0 | 73.0
101U~ P& =R 37 38 75| 4.8 |70.2 60| FAH I =l 41 50 91/18.0 | 73.0
11 BRH =1 38 37 75| 4.8 | 70.2 61| KT =g oA 41 38 79| 6.0 |73.0
128 E— =1 43 43 86| 15.6 | 70. 4 62| AfE 1EA = 0 41 79| 6.0 |73.0
13[4k 52 A 47 45 92/121.6 | 70.4 6315 EAs r— X 41 38 79/ 6.0 | 73.0
147K PR oA YL 39 40 79| 8.4 |70.6 64| fIAA — Ik =1 39 40 79] 6.0 [73.0
15 FAR FiEX SARX 40 44 84/13.2 ]70.8 IS SARX 43 48 91/18.0 |73.0
16|HH BBE%L 7T 4 41 37 78] 7.2 170.8 66 | A Fh YT A 44 47 91/18.0 |73.0
17 1#)1 BT E— X 39 44 83/ 12.0 | 71.0 67 | FaFS ELA oA YL 40 39 79/ 6.0 | 73.0
18| FH =1 34 37 71] 0.0 |71.0 68| FH| YT A 34 44 78] 4.8 [73.2
19| F5F Hfge 7T A 39 38 77 6.0 | 71.0 69 b4 iR YT A 47 42 89| 15.6 | 73.4
20 /N R 5L T T A 34 37 71 0.0 |71.0 0178 —# fit A 43 40 83] 9.6 |73.4
21 /)1 F2 A 35 40 75| 3.6 |71.4 BE ) FF A 41 42 83| 9.6 |73.4
22| R E— A 35 40 75| 3.6 | 71.4 T2\ EH 3R YT A 39 38 77] 3.6 |73.4
23| B H% fit A 35 40 75| 3.6 |71.4 (BTN Al 41 54 95/ 21.6 |73.4
24| 1B1R T A4 40 35 75| 3.6 |71.4 EIEEES YT A 41 42 83| 9.6 |73.4
25| 1FEH] 7T 4 46 41 87/15.6 | 71.4 75| H PER N 40 43 83| 9.6 | 73.4
26| 1L 5= 7T A 40 40 80| 8.4 |71.6 76| HI FHE T4 53 48| 101/27.6 | 73.4
277K HFnh Al 40 40 80| 8.4 |71.6 TTEN S B — X 43 45 88| 14.4 | 73.6
28| H EIR 7T A 37 37 74 2.4 [71.6 78| L& IEME I AR 38 38 76| 2.4 [73.6
29 HEHH # 7T A 41 39 80| 8.4 |71.6 794 H NS 39 43 82| 8.4 |73.6
301 K 7T A 42 38 80| 8.4 |71.6 80|BEA 5 HHH 46 47 93/19.2 |73.8
31/BFH BVE ik 47 45 92120.4 | 71.6 81| £ fif — =1 43 44 87| 13.2 |73.8
32| EAR K a2 A YL 36 37 73] 1.2 |71.8 82\TA #kZ =1 42 39 81| 7.2 /73.8
33 |BAlES = AL 45 40 85/ 13.2 | 71.8 83|HEAH S AR 43 44 87| 13.2 | 73.8
34| IUA FEL S AR 41 38 79| 7.2 |71.8 84|FAK EH YT A 41 40 81| 7.2 |73.8
35| RS 72 —RE = i% 39 40 79 7.2 |71.8 85| EAR H T 4 45 42 87/13.2 173.8
36 | EA X JvT 4 42 37 79| 7.2 |71.8 86 |t¢ Hk—Hl Al 40 41 81| 7.2 |73.8
37| HE IEVE T A 40 33 73] 1.2 [71.8 87| AFT g K 36 39 75| 1.2 |73.8
38| ILUAT £E)A I 54 48|  102]30.0 |72.0 88|J& —HR — X 42 38 80| 6.0 |74.0
39| Bl FEH] T A 35 37 72] 0.0 |72.0 89| #fik +h T 4 45 47 92/ 18.0 |74.0
40 |Bp il 352 T A 37 41 78] 6.0 | 72.0 90| Y iR E— = 43 42 85)10.8 | 74.2
41 RHEH #F5 7T A 43 47 90| 18.0 |72.0 91| F fi E— X 40 39 79| 4.8 |74.2
42 & 5 RAA oA YL 55 47 102/30.0 [ 72.0 92 °'FH EiE Al 41 44 85| 10.8 | 74.2
43| H FH-5HAD S AX 37 39 76| 3.6 |72.4 93| A B B— 2 40 44 84| 9.6 | 74.4
44|/ H 5L YT A 39 37 76| 3.6 |72.4 94| Nk & oA YL 37 47 84| 9.6 |74.4
45 = )1 —4hG E— X 44 49 93/ 20.4 |72.6 95 =4t IEiR NS 45 45 90| 15.6 | 74.4
46| FEH oA YL 47 46 93]20.4 [ 72.6 96| 1L 15K AR 41 49 90| 15.6 | 74.4
47| —F = 44 43 87/ 14.4 | 72.6 97T\ T AR F 7T 4 39 39 78| 3.6 | 74.4
48 |Fefg E1H A a 38 37 75| 2.4 [72.6 98 B A Bh At 41 43 84| 9.6 |74.4
49| H %+t ' — R 40 40 80| 7.2 |72.8 99 INpk e fit A 43 40 83| 8.4 |74.6
50 [ BF S =1 40 52 92/19.2 | 72.8 100/ _E fEA4 JiN 43 46 89| 14.4 | 74.6
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WEhL | 2N K4 B OUT | 1IN |GROSS| HDCP | NET |Gcossi fii 5 NEAL | ZInaE R4 ATl OUT | IN |GROSS| HDCP | NET |crosshi %
101 A4 gL S AR 37 40 770 2.4 |74.6 151 | H ik Hik N 49 46 95/ 16.8 | 78.2
102|HH ) 5L5: U vT A 45 43 88]13.2 [74.8 152 [M A s A 43 44 87| 8.4 |78.6
103|Bpep B 5 N 36 40 76] 1.2 |74.8 153 | AafT Mk E— 2 41 45 86| 7.2 178.8
104458 —K St A 46 47 93/18.0 | 75.0 154 A g ' — R 44 42 86| 7.2 |78.8
10511 F ASH ' — X 43 44 87/ 12.0 |75.0 155 | JEHS $hss E— 2 47 55| 102]22.8 |79.2
106 |85 EFH = % 39 42 81| 6.0 |[75.0 156 |93 —HH | 46 50 96/ 16.8 | 79.2
107 S 72K oA YL 41 52 93/ 18.0 |75.0 157\ =J5 /% E— X 42 42 84| 4.8 79.2
108|PRH FETE HHH 41 52 93] 18.0 | 75.0 158|765 =] bla iRl 52 54| 106]26.4 | 79.6
109 A P&EA E— X 44 42 86/10.8 | 75.2 159| =& fEiG oA YL 45 42 87| 7.2 179.8
110568 JEOKEAR A 44 42 86| 10.8 | 75.2 160K £w YT A 47 45 92| 12.0 |80.0
111 AL B =1 46 46 92| 16.8 | 75.2 1613 BEIG oA YL 47 56/ 103]22.8 |80.2
112/l /& HHW 47 45 92| 16.8 | 75.2 162| AR fff — JvT 4 45 44 89| 8.4 |80.6
11355 MEw] oA YL 43 43 86/10.8 | 75.2 163 | HEAS v YT A 57 43| 100]/19.2 |80.8
1147511 et = i% 43 42 85| 9.6 |75.4 164|500 Fjdh YT A 48 51 99/ 18.0 |81.0
115 =& SEHI fit A 44 41 85| 9.6 | 75.4 165| FH FE SARX 48 46 94/ 12.0 |82.0
116 | #r5k fit A 48 49 97/21.6 | 75.4 166| (LIl & E— X 54 57| 111]28.8 |82.2
L1767k ' — 2 52 50/ 102]26.4 | 75.6 167| B4 FEKR L — R 51 52| 103/20.4 | 82.6
118|#4 #FE— FEA 50 46 96| 20.4 | 75.6 FINIBN 7T 4 NR
L1911/ #i5 T 43 47 90| 14.4 | 75.6 R 5B =i NR
120 % H * oA YL 39 38 77| 1.2 [ 75.8
121 AR fERER 7T A 44 39 83| 7.2 |75.8
122|328 HHM 41 42 83| 7.2 |75.8
12332 ik A 47 41 88/ 12.0 | 76.0
124°'FH &5 =2 A YL 43 45 88/12.0 | 76.0
125[ AR Kl fit A 53 59| 112/36.0 |76.0
126| K& &R E— =X 42 45 87/10.8 | 76.2
127 BN AR F— =X 52 47 99)22.8 | 76.2
128 JE/K £ B 45 54 99| 22.8 | 76.2
129 /2% K i fit A 42 39 81| 4.8 |76.2
130/ B7K #Ew] Al 46 47 93] 16.8 [76.2
131 | $0ARK E1 Al 48 39 87]10.8 [76.2
132 |f& H 54 = b 53 46 99]22.8 76.2
1334 5L H] S AR 47 51 98] 21.6 | 76.4
134/ HF BEA E— X 47 51 98] 21.6 | 76.4
135 /A 2] = i% 48 50 98] 21.6 | 76.4
136+ 7a SR JIFE, 49 48 97]20.4 | 76.6
137 |EAJ gef =B 44 46 90| 13.2 |76.8
138 H & 7T A 48 47 95/ 18.0 | 77.0
139|37)1] 5Lh=& At 46 55/ 101]24.0 |77.0
140 A {7 =21 v 47 47 94| 16.8 | 77.2
141 {55 185 E— X 51 43 94| 16.8 | 77.2
142\ % B JEA 41 41 82| 4.8 [77.2
143 B E = i% 53 46 99|21.6 | 77.4
144 |fBiR #— HHH 51 47 98] 20.4 | 77.6
145 )1| JSkst E— X 44 47 91| 13.2 | 77.8
146 J1[Igy fd NS 43 48 91| 13.2 | 77.8
147 hopk HEE T 4 44 41 85| 7.2 |77.8
148 | k] [hd e A YL 49 47 96| 18.0 | 78.0
149 2 K iR AR 45 45 90| 12.0 | 78.0
150 3/ 8HF 54 Jit A 41 43 84| 6.0 [78.0
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